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Multiple choice 100 x 1 =100 Marks
1. dFigo. qufmmmﬁWIﬁmsﬁg
I .
A) 9% B) 9¥ ) by D) ¥

If 0.36 is written in simple fractional form, the sum of the numerator and
the denominator is .

A) 136 B) 114 C) 74 D) 34
FA Fav=1 gM A R 2

3 14 38 e
A B & O 7 D =
Which is the smallest fraction? . :

13 15 17 7
AF- g B 19 S =51 D)’ 3

R 6 AR =R YT TRAR 0.63Y T TEEal Hidad arRel SRS
AR b ?

A) 3% B) R C) 30 D) =5

How many pieces of wire each of 0.825 m of length can be made from a
wire of length of 29.7 m ? '

A) 36 B) 32 C) 30 D) 28



10.

M Y0 T 14% T AR K% U< R TEHA e B Y TN 3T FRIA 2

A) W B) 9% 0 95 D) Ro
If 15% of 40 is greater than 25% of a number by 2, what is the number?
A) 14 B) 16 C) 18 D) 20

mmaanﬁaﬁmﬁwmmwamv@axm
fermiior 7 SRt S AT o T 2
A) S0l B) RS C) O D) YY M

15 persons can build a wall in 20 days. How many persons should be added
to build the same wall in 5 days?

A) 70persons B) 65persons C) 60 persons D) 45 persons
T 51 heldd & T 18 % aaoaﬁawaﬁané%ﬂ?m%aaaﬁzré
Tershl T | AT 3 ST YT Oe s aa

A) RIVAE  B) IXAFH C) .0 AH D.) .Y ATH

. A boys buys 9 apples for Rs. 9.60 and sells them at 11 for Rs. 12. Find gain

or loss percent. -

JA)  2.27 gain B) 2.51oss C) 2.27loss D) 2.5 gain
S x FT x% +y3ﬁ[y%=xy3ﬁ2%’§%ﬂ':‘fx5€laiﬁfmy€f ?

A) 900% B) ©Y%

C) %% D) U SIS WiEe

If x% of X + y% of y = 2% of xy, then what percent of x is y?

A)  100% B) 75%

C) 50% - D) Cannot be determined

¥. 930 A, B, C @ I&{ Aifes & A %1 W5 B =1 ¥=1 %. 0 S I C A
=T %. 0 W FH g8 94 B I W H T 2

A) T.R0 B) ®.R¥ C) %.%% D) %R

Rs. 120 is divided among A, B, C in such a way that A's share is Rs. 20
more than of B and Rs. 20 less than of C, what is B's share?

A) Rs.20 B) Rs.24 C) Rs.28 .*- D)y ‘Rs.32

X Z X X
AR =R0TC=3BHS+5 =2
?Ifq'y BT =4 vy

A) W& B) 5o C) 9qro D) 950

X z Xz
Ify=60andy=3,they+y=
A) 63 ¢ B) 80 €):=120 D) 180
Wmmmﬁﬁmﬁmmaxopoom@w
Uufe Fiel FAJaTe Hid T oA TRfE |
A) ®.9R¥0 B) ®.93¥0 C) 3T.9¥Y0 D) %.qY¥o0

Soni rent Anju a sum of R.s 40,000 at the rate of 2 paisa per 2 rupees per
month. How much interest will soni from Anju at the end of 3 years?
A) Rs. 1240 B) Rs. 1340 C) Rs. 1440 ' D) Rs. 1540

= Riire
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12.

13.

14.

15.

16.

- 17,

wﬁg@%ﬁwmww@m

50, %0, %0, G¥, %0, 90, Y, T¥, 9, %0, O

- A) %O B) o C) &o : D) <o

Find the mode from the following given series.

80: 90, 90, 85, 60, 70, 75, 85, 90, 60, 80

A) - 60 B) 70 C) 80 =Py 90

2 20 ST Farenef Sirem The T T 4430 B, S R ST SheREhI
i T3 TS . % © S & S SER SHA Tohe THH § 7

A) T B) %94 C) T.q% D) %.9¢

If the average pocket money of 20 students is Rs. 15.20, among them the

average pocket money of 12 boys is Rs. 16, then what is the average pocket
money of 8 girls?

A) Rs. 14 B) Rs.15 C) Rs.16 . D) Rs.17.
dae g Tgud 3 : ¥ ¢ K@EIML.C.M. Y00 Wehl B 1 ol
AEH HCE FHAES ?

A) YO B) &oO Q) qr0 D) 200
‘Three number are in the ratio of 3 : 4 : 5 and their L.C.M. is 2400. What
will be their H.C.F?
A) 40 B) &0 C) 120 D) 200
T 2543 4 2* = 36 4T FreAEd FA x T HA SF B 2

A ¥ B) % C) R D) 1

" If 2*% + 2% = 36, then which of the following is the correct value of x?

A) 4 B)* 3 €)' 2 D) 1
T T TR |
(335‘1 9a+2 27a) / (3a-l 9:\ 27a+1) =
A 1 B) 3 o R D) R
Solve the problem.
(3a+l9a+2 273)/(3a—19a 27a+l)=? N
A) 1 B) 3 C: 9 D) 27
Transistors were used in . . . generation computer.
A) Fist ~ B) Second C) Third D) Fourth
The Bootstrap Loader resides in
A) Hard Disk B) Any Bootable Device
C) RAM D) ROM

18.

19.

Which statement is false?

A) You can find deleted files in recycle bin

B) You can restore any files in recycle bin if you every need

C) You can increase {ree space of disk by sending files in recycle bin

D) You can right click and choose Empty Recycle Bin to clean it at once
One thousand kilobyte represents a ’ :

A) Mekabyte  B) Gigabyte C) byte’ D) Terabyte

o R
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25.

26.

27.

28.

Which is not the function of Operating System?

A)  Start the computer B) interpret the commands

C) Manage data files and programs. D) store data

Full form of LAN is. IREL

A) + Local Access Network B) Local Area Network

C) Local Attach Network D) Local Around Network

In computer security, . . . . means that the information in a computer system
only be accessible for readmo by authorized parities.

A) Conﬁdennahty B) Integrity

C)  Availability D)  Authenticity

Text wrap feature in word processing

A) allows to type over text

B)  automatically moves to next time line

C) allows to make text attractive

D) increases the attractiveness of the text

Which shortcut key do you use to double space a paragraph?

A) Ctrl+1 B) Cul+FR2 C) Alt+R2 D) Ctul+2

Which function is used to calculate depreciation, rate of returns, future
values and loan payment amounts?

A) Logical B) Math and Tri gonometry

C)  Statistical D) Financial

TR ARTA : . . . . .. MRS |

A =H B) difwifersam

C) ffifam D) SEFREH

Pamir Mountains lie mostly in . . .

A)  China B) Tajikistan )’ Kyrgyzstan D) Afghanistan
: aem FRE 991 5 T 9 fasrey @13‘@1{ I

- TR K0 = e SRe! T S

?) =T AT 93 e e 715 fawm Sife o

P YR S TR R TRAH AT T

Ay 9HH B) RAEA ) 113 - D) RIR
Consider the following statements and choose a correct alternative.

1) 50 Districts of Nepal do not share border with India

2) -Only 13 districts of Nepal share border with China

3) 6 provinces of Nepal share border with India

A) Tonly 'B) . 2only C) land3 D) 2and3
TR FUTE TSR TTHRIY T &1k forshed Brgemy |

1) U 363 TR B

R) IETH HEHHR] TR A WO SRR SR 3 |
A) T B) AN

0) 9Igfa=w D) 1IR3 few



29.

30.

31.

32.

33;

34.

Consider the following statements and choose a correct alternative.
1)  There are 283 municipalities in Nepal
2)  The highest populated sub- metropolitan ¢ity is Janakpur in Nepal

~A) lonly B) 3

C) 1 and 2 are correct D) 1 and 2 are incorrect

st ATl TRl A Wmﬁmﬁm& YT FHSH S ?

A) Gi% B) ©.4%

C) 4% D) IR F TR

How much percent land has inner-terai covered of the total area of Nepal?
A 85% - B) 7.5%

C) 9.5% : D) None of the above

um@awéamﬁqmmm%mmﬁ%?
A) 3% B) R .~ O % D) Yo

How many countries were there to participate directly in the World War I
favor of Britain?

A) 28 B): 32 €) #=36 D) 40
OIS A HIAATATS T T W 0 2
A) A A B) feriral W
C) AW |l D) I 9uFdl
- Which of the followmg civilization is supposed to be the oldest civilization?

" A) Maya Civilization B) Chinese Civilization
(O] Unani Civilization D) Indus Civilization
Tz ST e g . . . R TS e SR |
A) - g B) TH ¢ foe=t D) IR
Emperor Ashoka had come to Lumbini of Nepal in the period of . . . . Kirat
King. ' :
A) Humati B) sthunko C) Jitedasti D) Yalung
T ST B SRIEEeT S Al fHersger | i
q) TaRI HEH ) e v
3) RO WA ¥) IEE IR

A) R-¥-39 B) 9-+¥ . O 3-3-¥-3 D) 9-R-¥-%

Aarrange the importing goods in Nepal in descending order.

1)  Vehicles 2) Petroleum

3)  Machineries 5l 4)  Tron and steel

A) 2-4-3-1 B) 2-1-34 C) 2-14-3 D) 1-24-3
ARl forshe ST eTshl el e Pe T ?

A) wEtefd qed B) STANI Hewd

C) sufa= Ted D) Wil F BEA
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37

. 38.

From the following, who started "BISKET JATRA in Bhaktapur?

A) Jayasthiti Malla B) Jagajyoti Malla

C) Bhupatindra Malla . D) None of the above

TAFTHEY G WIEToh HEAACTE SR FIRGRT oo TRa fordr > - -
T Ay e T sEm B) foteam ge fia

C) o= fort R D) Y IR wREF

Which of the following public Enterprise was privatized through
Management Contract? ’

A) Hetauda Textile Industry B) Biratnagar Jute Mill

C) - Birgunj Sugar Factory D)  Agriculture Equipment Factory
TR STRTEH] S5 SeTeh] Frae qeehTHed % S T B 2

A) 3B SR IoTgd o gf i)

B) o <o A e A s oy, ’

C) WeHThmEe Sifeq Tofl, FAMH! goi1 T gream )
D) foreea gt At sferent sreigt T iRl T frg

In Nepalese history, Which of the following statement is wrong in relation
to Thakuri dynasty?

A)  Thakuri dynasty was also called as rajput dynasty

B) Raghav Dev was the last king of this dynasty

C). Laxmi Kamdey started to worship of living goddess, Kumari

D) Shivadeva III was brave and powerful king of this dynasty

TR ATHE B 9 S e wiet ooy s |

WA U B

ny f= c a. Tafyes

2) WS- b. AT :
3 ¥ ‘ c. T HiEa

A) 1-c,2-b,3-a : B) 1-a,2-b,3-c

C) 1-c,2-a,3-b ' D) 1-b,2-a,3-c
Matching group A with Group B, select the correct alternative..
Group 'A' Group 'B’

1)  Sikh a.  Tripitak

2)  Buddhism b.  Bachnamrit

3) Jain - ¢. Guru Granth Sahib

A) 1-c,2-b, 3-a . B) 1-a, 2-b,3-c

C) 1-c, 2-a,3-b D) 1-b,2-a, 3-c
T A FAR FRA RO TG TR AT GrgerdT Trafd quen
FHIYH TH H&dm s ?

A) World Bank B) IMF

C)  Asian Development Bank D) Un
e Giins '



39.

40.

41.

42.

43.

44.

‘Which institution of the following helps to- solve the ~problem' related to

balance of payment through providing loan?

A) World Bank - B) IMF

C) Asian Development Bank D) UN

A). ROCY/HG B) R04G/4& C). R0YR/XO D) RORO/R]
Since which fiscal year Nepal Rastra Bank started to make public annual -
monetary policy? .
A) 2057/58 B) 2058/59 Cy 2059/60 ° D) 2060/61
Sohehl = TR GEHI A U STTR{vd & ?

A) T T S B) FGH T
c) fatim sfysr @& W@ D) . HifeeR |l
Which act is subjected to the case of dishonour of a bank cheque?
A).  Napal Rastra Bank Ain B) Muluki Ain
C) Binimaya Adhikar Patra Ain D) All of the above
3qTeT R FAEEIE 34404000 THETEH FE QeI T8 2
“A) AR GERITAe B) 3Uel TERIAST
C) T ’ D). yad

What type of climate is found in 3550-upto 500 m height of sea level in
Nepal?

A) Warm Temperate B) Cool Temperate

C) Alpine D) Tundra

1 ST AT favaer Gead TR 098, ST 1 TR S 2
A) & B) 3THRER C) W D) @R
In which country women's World Cup Footbal 2019 going to be held?
A) Russia ' B) America C) France D) Qatér
AUETR TG A YR ST Tohehl AL S 2 :

A) R B) 3% C) 3% : D) 3%

Which of the following Article belongs'Right to Labour in the Constitution
of Nepal?

A) 32 B) 33 Cc) 34 D) 35
T TG TAHEAT ST AR T AT B Q2
A) 9% B) dMrE 0 &g D) ®R

Which is the largest number of indigenous people of Nepal among the
following? .

A) Tharu B) Tamang C) Gurung D) Magar
T T 9, 099 AR & Al 2
A) T i HREA B) U WA

) YA AT ST D) wEeTdT EE
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47.

48.

49.

What was the slogan of Nepal Tourism Year, 20117

A)  Together four Tourists B) Together with Tourists

C) Together for Tourism D) Together with Tourism

% AR FAUHT T Aok A SRI A B FH TRH F GIT
g9 ‘
A) yHRT SR B)  ¥. %000 FH SREMI

C) 3 HfET 2 TE. Y000 FH SREMT

D) 3 HiEAHH %2 91 %. %000 T SEM

If a person unauthorized writes .or marks on bank note, what will be the
punishment?

A) . 3 months imprisonment

B) uptoRs. 5000 fine

C) 3 moths imprisonment and upto Rs. 5,000 fine

D)  up to 3 months imprisonnient or upto Rs. 5,000 fine

‘AR MY gEEE: L I gt B

A) wfamms B) fafia stfier v

C) gl D) IFEHIF

"IOU" is mainly related with . . . .

A) Promissory B) Bill of exchange

C) Hundi D)  Order cheque

T T HARTATE 9 WSHE gt 94 2

A) 0%z At : B) 095 AR

C) 095 FRER D) R095 fedmRr

When was the labor Agreement between Nepal and Malaysia signed?

A) 2018 April B) 2018 July

C) 2_018 October ; D) - 2018 December
TEARTHES 7 T TLHoR] AR W0 S 2

A) @ - B) B C fafmf D) 9wt
Which of the following is not an official language of UNO?

A)  Spanish B) French C) Chinese = D) Japanese

TIH! I R T, 06 AR T F W FrH g
TR 2 :

A) TS FI RR T TG

B) U G SO U 9y 5

C) HITHI Seeid TIRTH HH oy

D) AT FHISEH § Gareeah] $Rea T9H 55 :

As per the criminal code, 2074 of Nepal, which of the following is not the
principle of criminal law?

A) - Principle of Double Jeopardy

B) Crime dies with the criminal

C) No crime without the law

D) parties to civil societies shall have equal status

o



51.

52.

53.

54.

“ofeetr F WA T HEEH fowd g @R UH, Jwdfs fres
FTHRT T TR T eiieRtur 7, 3T Eafe 3% Tierhl FE T HEE
foraR 71 1 veer Foer fe” SreeeEE . L R
A) A FARA _B) W?ﬁ
C) AT D) fe=wT
At first making a detail list of activities to be performed by an entity, then
classifying the activities ‘thinking on the nature of job and then assigning

them to a position considering similar type of job and workload is . . . .
function of management.

A) planning : B) organizing

C) leading D) controlling

HILYTH FE-Th Te® aaiehl 9 1 §1 2

A) AR, FeRE L sHeETA B) afyeR, Fdem 1=

C) fusR, ¥Am, ST D) TR, TEM, g1

What are the elements of controlling in management amohg the following?
A)  Authority, Direction, Management

B) Authority, Direction, Information

C) Authority, Application, Management

D) Authority, Application, Information

IAUMIFH AT A o 3o . ?

A) wwﬁaﬂﬁgﬁﬁwaﬁﬁmﬂwmﬁm

B) sifersam ek g TeUfd T SHTY=fich TUHI Ae S8 GERAl

C) Heurds Qi vew favseh! Atfavam y&ie=

D) &l HERT = 7 = 9

What do you mean by a succession plan?

A) - Dismissing an existing employee for appointing an efficient employee

R) A formal process of planning to fulfill a post that will become a
vacant in future

C) A vote of no-confidence against a board member
D) A formal process of recruiting new staffs

HISTH B¢ To9R Kl g9 2.

A) IS AR ST

B) YIMREE GAIlR e .

C) YIARE goash yaled g8

D) TEARE fafy= faur T wrieEen = vefed g8
How is lateral communication in an organization?

A) Information passes upwards

B) Information passes downwards

C) Information flows into two ways

D) Information flows between different departments and functions

R~
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Ife 1 e SIeal TATIH T TS v T30 T T B | Il
AMHIH FRU Tk FReR RO SHAl %0 9%e9 | §9aR YU
hemER 41 . . . . d1 grafyd R e _
A) femfesm  B) fafemm - ) F=ifeg D) fifaw
If someone has habit of using too many English words. Because of that
habit, an illiterate villager can not understand his conversation. In view of

* communication system, this problems is related with . . ..

A) Decoding B) Medium C) Encoding D) Receiver

McGregor £l "Theory X" %1 oo qereRmed FAR ?

A)  FHERE HEERE TR s

B) WHIRF T ARH TaEar FUERS S @Ifas ST S0
fa=11 ‘

C) FHARITE AT oA 71 W

D) SHIRRE Mefd g Taesq

Which of the following is a feature of McGregor's theory X?

A)  workers enjoy responsibility

B)  workers view physical and mental efforts as a natural part of work

C) workers like to show initiatives

D) workers like to be directed

UCTR] WIelSTe & FHERIEE! hEAEET GeAed T GuHHA

G331 TeTehT He 5 31k B 2

A) TP AR TR B) HwHIiEd FHTHH! ARG

C) THIfcd M Wil ARGl D) GeIfed sIa aris! §0g

In regard to Nepalese public sector employee's performance appraisal,

which of the following is not correct?

A)  quantity of the work performed

B)  cost of the work performed

e honesty towards the work performed

D) time taken of the work performed

TAH! LY HYTeTeh] 5 AT TR AR SrerasmT 7 0 66 2
A) WHIAINIATATHI  B)  ATawFH HIT T TR

C) TR G TR . D)  HE-Hd HHARR T TR
Among the following, which is not mentioned in the citizen charter of a
public agency of Nepal? :

A)  Service to be provided and time taken

B) Required documents and fees

C) Grievance hearing officer

D) Contact number of related staff

~90 ~
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mﬁg@n@mmwﬁvﬁmaﬁﬁv

59.
A) ENTGIRCEIRC D] : =faes Gt
TR 9 D) HifereRt TS
Wh1ch of the following is the personal quality of managenal leadershqu
A) sense of responsibility B) judgemental capability
, C) psychologxcal knowledge‘ _ D) all of the above
60, “TU1 =" T YT YR MU FFERN A 2

A) SER B) S C) W D) iR

From which country "Quality Circle" concept is started?

= A) Germany B) Britain - C) Japan D) America
AT HY A e i ST T B ?
©A)  HHSRT S A ‘ B) iferm ¥ farhma Aifd
C) omifae SERIfeh A D) Yo GEEEE
Which of the following is not related to. Human Resource Mangamem‘?
~ A) Employees recruitment policy
B) Training and development policy
C) Startegic manpower planning
D) Strategic inclusion
62. T WL HASE 1 feR0Hl mﬁw i bl :
A) Frasa s B) TAH ) wd= - D) fmm
Which of the following is not include in job description? Yiac
A) Activities B) Job Title C) Duties - D) Eductation
63. ' TGl “IRNH TEE® ... @S S TSl SR
A)  Heratas FEfd @ B) ®E@E :
c) ferwmfa@m ; D) T S
"Preliminary expenses” falls . . ... under account head in accounting.
~A) Fictitious assets account B) Expenses account
Fae Gy Fixed assets account e D) Investment account
64. T TS A HRER OREl Rt STTerd Tree ?
A) ot e war ™ B) TS ﬁl’-‘ﬁ ™

C) Tiferrse T o TH
D) IPEREAEECTE QT oo
Which one of the following is not recorded into books of account’?
~ A) Preparing fiscal plan ; B) . Paying salary
“C) Receiving the furniture from owner i
- D) Distributing dividends to shareholders - ]
mﬁmzm%mmaﬁaﬁmzmﬁaﬁm 5
o 1" e g ) A 3 FA TS T AL E ? :

- A) o e i B) arEifash TEl

B R rc A D) FEE .
= '
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67.

68.

69.

7

: "Debxt all the losses and expenses and credlt all the gams and incomes. "

While entering a transaction into account, in which account thxs rule is

applied?
A) Personal Account : - B) Real Account
C) Nominal Account D) Income Account
wmmé@mmwmwzgﬁam%
T . ... R ReiES ) ;
N - B) TmEEE -
- ©) amgfderat . D) Toe@EsE
External or Final Audit aims to give a picture of strengths and weaknesses
of financial position to . . of an organization. 3
A) _Shareholders : i B) Customers 5
C) Suppliers . D) Managers
Wwﬁﬁwmmmqﬁwmﬁaﬁﬁm ?
A) A9 TR TF B) SE=EEIE
- C)  dIfier WYR g D) TRl Wieihsh e
Who appoints the final/external auditor of bank and financial institutions?
A) Nepal Rastra Bank B) Top Management :
C)  Annual General Meetmg’\ - D) Office of the Auditor General
aﬁ@mm@wﬁmammmzﬁm R FA D
I HARTEARETE FE0 J9E T TS 2 :
A) . TR A B) I AT
C) FIMWTH D) AhEH
_ If the rate of return of a company is lower than the interest rate of saving
market, what would be the implication to shareholder?
A) Dividend increase =5 B) Dividend decrease
C€) No effect at all . 'D) None of the above :
"Gross Margin Ratio" TT§ Teiht 7?‘53 E aﬁf{mﬁ ity Hﬁﬁffﬁa ’Tsf ?
A) TmH KGEIn : B) et g9 :
C) fraem G D) TIHSEHA A ‘
Which of the following ratio best represents the "Gross Margin Ratio"? |
A) Leverage Ratio < B) Liquidity ratio :
'C) Creditors \ D) Raw Materials'
eI HEl T oS e B 2 -
‘A smwE B) ¥ AR
0 W® : D) =1 §ERlT
Which of the followmg is not current asset? )
A)- Debtors : : . B) Bank Balance
C). Activity Ratio ' D) Profitability Ratio

~9% ~
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72

73.

74.

75

76.

7

s a1fieh STETEF THE 20,000, i ST S F. 20,000, uﬁmm

F. 00 YT U= TR OF T T wﬁwr%aw%ﬁamﬁimwﬁvm

HATS ?
A) 9000 THE
C) 3400 T -

¥

B)
D)

000 THE
¥000 ZhTS

If an annual requirement is 20,000 units, ordermg cost per order i is Rs. 200

and inventory carrying cost per unit is Rs. 2, what will be economlc order

quantity (EOQ)?

~A) 1000 units -

C) 2500 units

mwaﬁmmmmmmﬁmaﬁv
A) T SURRUEER! B foht
C) iR GRS femhl ‘

flow?

B)

‘D)

2000 units
4000 units

it

B) TN WS foent

‘D)  HOeh! @iE foent

Which among the following transaction is not mvestmg activity of cash

A), Purchase and sale of plant and equ1pment
B) . Purchase and sale of land and building

- €) ' Purchase and sale of furniture. e
D) Purchase and sale of debenture -

amamaﬁaﬁm%@@aﬁ%h ?

A) EfeEd
C) U@ EHH

Which is not mentioned on liability side of balance sheet?

A) Equity
C) Inventory

A) TRl TISThe! HEe

. AT T S

Nepal?

A) Office of the Auditor General

C) Nepal Rastra Bank

A) %0.

A) 60

mmmmmnﬁaﬁﬂ#aﬁaﬁa7
9}

A) 9 ¥foeE

B)

B)

B)

%

districts of Nepal at present.

37

R e

~93~

B)

B)
D)

/

T T e et =
D) ThTern! S ThA

‘Medium and long term loans
Current liabilities

'@ﬁmmmnﬁmﬁﬁqmmv

B) mmm
D) mf‘eza?li?rasa

"B)  Office of thie Financial Comptroller General Office

\

D) None of the above

T TR T e STRHI FOTET AaTeTeht . . ﬁﬁﬂmmw@al
; D) Lo
E-payment of government expenditure has been implemented in . . .

9

&)

oy

75

3 yfemma

: ; S By T
I T A MFER o a1 fowig T g id fied A

D)

uﬁma

’ thch agency prepares national financial statement of the Government of



As per Nepal Rastra Bank, how much of the profit a bank and financial -~

institution should compulsorily make provrsron and spend under Corporate
Social Responsibility (CSR)? SRR
Y A) 1 percent B) - 2 percent C) 3 percent D) 5 percent
77. %mﬁeﬁammuﬁfuﬁwﬁﬁ%ﬁ@nmw@ﬁé ?
A) eI SifEH - B) wEmasifes - -
C) ¥R SifEs - : D) fmsifen
Which of the following risk is arised from mformatron technology in banks
- and financial institutions? : ;
A)  Liquidity Risk B)  Operational Risk
. ©) Market Risk_ - - . D) Financial Risk
78. HUE UL e W, 045 FFER foss ga W%gﬁw ?
A) m@mmwmw o
B) RdM 951 A
C) R gE A D) aﬁﬁaﬂ?m?ﬂaamm
As per Nepal Rastra Bank Act, 2058, what is meant by foreign currency?
A) - All other contries currencies other than Nepal
B) Indian currency only ' \
- ©)  American currencyonly :
- D) -American and Indian currency only £
79, méﬁmmﬁﬁmmn@ %zm%mwﬁa@w ?
A) ~ % AT I URE T B) ermm
C) ¥ 39 U AEHE <5 D) mg&wrmﬁrm
When a customer deposits money in a bank, what relatron gets estabhshed
between the customer and the bank?
A)  bank debtor and customer creditor
B) bank creditor and customer debtor
“C) bank becomes both debtor and creditor
D)  customer becomes both debtor and creditor
80. SR YT CIB YA B ElRz= ) ‘ :
> A) Criminal Investigation Bureau B). Central Investigation Bureau
C) . Central Investigation Bank D) Central Information Bureau
What is meant by CIB in Banking language? x .
A) Criminal Investigation Bureau B) Central Investigation Bureau

~. ©) Whatis Investigation Bank D) Central Informatron Bureau
81. mmmmmmwmmm R :
A) SE B) S&E C) U= D) TRR,

The rate amount charged by central bank for lending fund to commercral -
bank is .
A) Interest rate B) bank rate C) fees D) spread rate

ST e



82.

83.

84.

85.

86.

87.

88.

ﬁwmmmﬁmwwﬁmmev

A) T90FE B) TLEFE C TRWE D) TS
What is the amount of minimum paid up capital assigned for the national

level microfinance financial institution in Nepal? :
A) Rs.10Core B) Rs. 6 Crore C) Rs.2Crore D) Rs.1 Crore

s I T FF T ?xﬁmmuﬁiﬁmaaﬁmﬁmm
%om@wmﬁﬁmwﬁmméwv 2

A TR Tl s - B) w3 fafeem wH

) 3. 3o fafemm gfs D) <. 3o faferas =+
In Nepal Rastra Bank sells Rs. 25 billion worth government securities in an
open market operation while the reserve requxremem is 10% , what

- happens in money supply?

A) increase by 2.5 billion B) decrease by 2.5 bllhon

C) increase by 250 billion D) . decrease by 250 billion
AT FASH T 2 : .
A) TRE-lAIferRs] | B) aréﬂ nmzﬁm{m
C) ofe - I3 fer e D) i % g :
Which of the following is correct? e =5

A) Basel - I has 3 pillars B) - Basel - Il has 3 pillars

C) Basel - III has 3 pillars D) None of the above
HeATTa Afehdient m EETHR aimm SeqreA =ﬁﬁ3‘5 oo ﬂﬂaﬁ
L YD : .

A FEmsmE ~ B) dumafeg
C) =EEE : D) iU %A U R

To distribute i }nsu;ance products and pohcxes by a bank as corporate agent is
called . : ~ :

A) Deposit insmance B) Insurance Banking

C) Banc assurance D) None of the above
TEAHTHE Joreren! wfeet AR ST FA W 2

A) SRR RN & : B) fotre R SfEifies &l

C) ey STEnfiEh & : D) TR aﬁzﬂﬁm &

Which of the following is the first industrial estate of Nepal” % 25
A) Bhaktapurindustrial Estate . B) Biratnagar industrial Estate
C) Balajuindustrial Estate . D) Patan mdustnal Estate
ATET TS ekl THFTGh] HTFHIA. HlA &S 2

A) Yoy By xyad.

c) «Td D) I g‘tsa

What is the tenure of governor of Nepal Rastra Bank?

A) 4 years _ _ B) 4.5 years -

C) . 5 years = - D) None of the above

"IPO" % JUIET % B 2 B

A) Institution public offering ‘B) Initial Public Offering

C) Inside Public Offering D) - Internal Public Offering

G,
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89.

90.

91.

92.

93

94.

95,

What is the full form of "IPO"? - - ‘
A) Institution public offering = - B) Initial Public Offering

C) Inside Public Offering D) Internal Public Offering -
Ser, qen ToreiTa wearR! i Ysim garTes 57 Sife vie Sty 2
A) I fufem : B) HIYRY SHS S

C) USil FHREISE Hiw D) @&

Which. of the following item is not added in core cap1ta1 of banks and
financial institution? :

~A) Share premium R "B)  General resérve found
C) _ Capita redemption reserve D) 'Good will
mﬂmé@mmq@qﬁa@w 3
A) = B) W&l WA
AR sfaagave . D) wiH e
thch of the following may ot occur in the Balance of Trade?
A) Cereals o8 - B) Vehicles
C) Electronics Equipment - . D) None of the above
! AL FHACTE THISTT e Geehisan! w9 oy 2
A) TR - B) Wy ferfg
C) HaIewia : D) HAHeE fowm g
Which of the followmg is not considered as a macroeconomic indicator?
A) Unemployment rate B) Balance of payment
C)  Inflation D) Human Development index

a@aﬁmmmnﬁ@@wm%ﬂﬁaé
A)  TF FAMEAIA  B)  Hfreen ot e I
C) T o MEEA e D) e FATRA

‘What is called the gross domesnc product (GDP) calculated on the basis of

current year's price?

A) Real GDP : B) GDP per capita
C) Nominal GDP ; D)  None of the above
AT 9 e aTfas GDP 9e8s 2 :

A) SRl SR SeHl B) WRSeHl :
C) UK G WA .. D) T E e

Which of the following increases the real GDP?
A) increase in real rate of interest B)* increase in taxes
C)  increase in government expenditure D) none of the above

Tordita +ifa aRadmel syt argemens . .. . . BRI 3R IS |

A) =@ G ) Eoinckein

C) T =Rl @ USirma @ ' D) = e

A change in fiscal policy affects the balance of payments through . . . .
A) The current account * B) the capital account

C)  both the current and capital account D) none of the above

4 Hifsen Hiften! SR 854 2 : :

A) frard 7 sgua B) o TR FREAR
C) Wk - D) hfe/fam sgam
“95~

/



96.

Vs

98.

99.

Which of the following is not the instrument of monetary policy?

A)  cash reserve ratio - B) open market operation

C) discount rate : D) credit/deposit ratio

Ifz e AT . 300 AL X R &0 T 3 9 €. 30 ST 8 T WD
7 FFd ST i §9 ? 7 :
A4 B R Chi =% s B 35

If total cost tise from Rs. 300 to Rs. 319 and average cost falls from Rs. 30
to Rs. 29, how much is the marginal cost? : ; 4
Ayl B) 19 S e ny 20
Iz el MewA I T xoo'm,ﬁémajaufm@fé. yo #E,
FRETE T 3. 30 HUS T FIAH FLL- ﬁdwﬂg@ﬂﬁn@q\mﬁrﬁmﬁh

2 i
A) . %30 S ' B) * Y00 TS
C) T.¥ROTIS D) T U%0 HIS

If gross domestic product is Rs. 500 crore, gross subsidies from foreign
countries is Rs. 50 crore, depreciation amount is Rs. 30 crore and indirect
taxes is Rs. 10 crore, what will be National income? ; i -

A) Rs. 510 crore B) * Rs. 570 crore

C) Rs. 490 crore > : D) Rs. 590 crore e i
7fE =g FIIE R ¢ 9 ta@mﬁm.wmauﬁmmﬁaaﬁﬁw 1
A) TROTM : B) FT.PTR -

C) . qROTR ‘ D) ¥.950 TR

If current ratio is 2 : 1 and current asset is Rs. 60 thousén_d, how much is the :
current liability? : : ;

A) Rs. 20 thousand : . B) Rs. 30 thousand
C) Rs. 120 thousand ¢ D) - Rs. 180 thousand
T T o e ST 7@ frge” i@ s ?
A) sEERIfasE ‘B) IR fEEST
o) sermifasE p) fafee fasr
; Which of the following theory is related with "Jaw of diminishing marginal
utility"? ; e :
A) Theory of Saving - B) Theoryof Production
C) Theory of Consumption . D) Theoryof Exchange

100.

Ffeieh o R094/09% aﬁmﬁﬁmwaﬁiﬁmmﬁﬂ '
v R s ? : ~' ue 2
A) %% B) %4% £
According to monetary policy of fiscal year 2075/76, how much will be the

inflation rate in this fiscal year? ;
A 5% . B) 5.5% C) 6% : D) 65% "
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: Tf : R00%93/05 :
o fesitg 3 5 I : 900
THI: 3 Hyug :

ﬁfﬁ: Bahking_, Accounting, Mathematics and Computer

@Esecﬁonﬁmwmmlmmﬁﬁﬂ

) ¢

Section 'A’ 40 Marks

mﬁmmmmmmmvmmﬁa

s&ﬁm,n@—@_mmm,mmmm?m

| Why commercial Banks are called 'Factories of Credit Creation'?

- Justify with suitable examples. ‘What points affect the process_of credit

6+4=10

:amafmmﬂ%ﬁaﬁnﬂ@

creation? Describe.

FTHEE IR | ot 7 :
Stating the major functions, duties and power of Nepal Rastra Bank, Write
about the functions not to be carried out by the Bank. .- T+3=10

paper.money advantageous? Write down. ; - 2+6+2=10

»_ %mﬁﬁumﬁﬁ@amﬁmmm%a?qu :
ﬁﬁawéﬁﬁwmmﬁﬁammmm?mml

Write down about the financia] structure of Nepal. What are the advantages
of financial literacy? How: do s ﬁnapcial inclusion help to financial
literacy? Explain. : . : 3+5+2=10

e Section'B' : - 30 Marks
forita srgumes w=ret & gfirs ? SHEH] T W9 T e 1R
mmmmﬁmu  ¥4§290.
What is meant by ﬁnancial_ Ratios? State about the financial ratios that are
used to measure the liquidity of a business, ; 4+6=10
AT W et Fafy R000l0¥109 77 T,00,000 %1 T3 AR @he 7= |
Wuﬁaﬁ%%aﬂma@ﬁaﬁﬁﬁ:mm@ﬁ%%@
B Wﬁ%ﬂmwmmmzﬁwm X T AR
Grdl TR ’Tﬂ'E?IH | Nepal Rastra Bank Purchased a machinery costing Rs.

-25,00,000 on 2070/04/01. Bank has a polfcy to. use deminishing balance

method of depreciation @ 10% per annum. Assumin_g the fiscal year ends at
the end of Asar-each yeat, prepare the machinery account for the first 5 years.

7 ~95 ~



10.

12. What is internet? Differentiate"imranet and extran

.ﬁmmmmm‘mm

afqaammaz;ﬂﬂné@?avhn@m : y+4=9°
Give an introduction of Record Management Cycle. How does a filing
system help to effective Record Management? Describe. 5+5=10

3 Section 'C' o 20 Marks

o 2 <t o T camﬁfzﬂmﬁ 2

" A, Band C can complete 2 work in 45, 60 and 90 days respeceively. Théy

‘aﬁﬁaﬂﬂwﬁﬁw

i

No.of persons

‘How many days C wo

started the work together and after 13 days, A left, B-left the work 5 days

7

earlier before completion of the work and C did the remaining work alone.
, i

rked in total?
el e fEER e R T R,5R0 TR

S TRt S T ao,ﬁxa@‘aﬁqmaﬂtaamwm@%m Y

In yearly compound interest rate, the amount of the ‘qum becomes
Rs. 79,860 at the end of the third year and becomes RS- 87,846 at the end of
fourth year. Find the rate of compound interest and the sum. 5

The length, breadth and height of 2 toom are 14 ft. 10 ft and 9 ft
respectively. The room has tWO windows of square shape of 3 ft length and
a-door of 6 ft X 2 fi. If all of the four walls have been coloured by white
paints Of that room, find the area of the coloured parts- 5 iy

=g e g

Section 'D’

ot with example. -

13. What are the guidelines of information disclosure and grievance handling in
: ; + :

Nepal Rastra Bank IT Guidelines?

s e e

,-'.'\Q._..




mﬁ?ﬁﬂmmlmm

Section A"

How have the World Bank and Internationg) Montéry Fund contributed jp
the economjc deevelopment of Nepal? Describe ;

T SR Fereeans STHE ey

Giving an'introduction about currepy Status of capital €Xpenditure jn the

Govemment Budge of Nepai, elucidate the Problems in’implementation of
capita] budget. 2% : % :

ST g ?W’ﬁ?‘!‘q\l Explain the ¢ of leadezship. What kind

es
of Communication is needed fora Successfu] leaygef? State, .
T oo Section ‘¢ 30 Marks
ﬁmmmtﬁm%miﬁmmﬂlmﬂ
R0y /9% aﬁ%%ﬁﬁﬁa @ﬂﬁ%ﬁﬁﬁﬁmm
T 1 ey .

~R0 .






AT g e, IR, eTeh e, wreres weay
Tafeg
R08Y/03/33
KEY [A] :
T 9y : : UIiEE : qo0
: o9 : T Tors, e T oy

mmkﬁymmmm.mm

. Multiple choice : . 100 x 1 =100 Marks

£ W@Hﬁﬂméﬂmﬁ@ﬁm ? ;
- A) TR : B) gErm

0) W=E ' D) 9N Irm .

Which one of the following is not written by Laxmi Prasad Devkota?

A)  Munamadan : : B) Sulochana :

'C) - Narendra Daj D)  Prithvi Raj Chauhan -

2 mmmmm ? : ;

A WWAG < B) WwH.¢ -

C) Iy - D) WwA.y

In which province does the place called Martadi lie? ’

A)  Province No. 7 d B) Province No. 6

C)  Brishbhary Devx : D) Pratap Malla
3, Waﬁw&zﬁwﬁmwm
A e B aavgéa

C) g3y - D) YoM T

Which king built Pashupatinath Temple? ‘

A) Narendra Dey : B)  Parchanda Dev

C€)  Brishbhany Devi D) Pratap Malla
5 L mmmmmﬁm!ﬁmm ?

A) © == B) 5% C) 9o D) 99

How many rates of paper money have been in circulation so far in Nepal?

A) 8 C) 10 D) I1

5. mmmﬁmwﬁf
A i B) 3% 'C) 3 O D) ¥iry

What was the price of the first Nepah Postal ticket?

A) lpaisa B 2 paisa C) 3 paisa D) 4 paisa
6. . ei*ﬁarrﬁmaﬁ.“ww'aﬁmaﬁmm#‘a? R
LA wE Bl ool o) e D) w95y -
What was the charioteer of Siddhartha Gautam "Chhandaka" cajled in Pali
Language? :
A) * Chali . B) Channa C) Chhwala D) Kumdum

= RR



10.

11.

12.

WHmewmﬁﬁ ?

CA) T B)m _C) THR

Which is not Pan'chebaja'7

A). Tyamko  B) .Dholak C) Damaha_

e

D)

vD)

A) TUE™ . B) =R
C) == . D) FIREYTE
Which is the only novel written by the Great Poet Laxmi Prased Devkota?
"~ A) Sarpadansha - B) Damini Bhir
C) Champa D) Antadekhi Shuru
a{snwnmmﬁmml ] |
w1 : TR
a UHFgENEE - 1. ifesH
b, e TR B i 2. SR
d. T I B 4. U
A) a4,b3,c2,d1 B) a-1b-2,c-3,d4
C) a2, b-3,c4,d-1 ’ D) .a3,b-2,¢l, d-4
Matchxg Group I and Group I, select the suitable option. -
Group I Group II
a. SAARC Information Centre 1. Pakistan
'b.  SAARC Culture Centre 2. Bangladesh
¢. SAARC Agriculture Information Centre, 3. . Sir Lanka
d.  'SAARC Energy Centre < cE ey 4. Nepal *
A) a4,b3,c2,d1 " B) al, b 2,c-3,d-4
C) a2,b3,c4dl . D) a3,b2,cl, d—4
37 SRR ERRL Hfes 2 :
Ay WS B) YISl C) A D) @mﬁ
Which language is spoken by ‘Chepang ?
A) Praja B) Pandi C) Jangba D) Khamchi
TR T fee A 9 2 : o LS
A) T B) TEERE C) TS D) A
Which of the following district doesn't lie in Terai? ]
A)° Bardiya - B) Nawalparasi C) Sunsari - D) Jhapa
! AT e 9015 & ToR fHt=1 %9 2
A) AR USH . s B)s HEARG
C) eSSl : D) ARRE&HE
" Which of the following moumam s height is less than 8 thousand meter"
A) Mt Albarsh g » B) Manaslu
C) Kanchanjungha D) Mt.K2
A geaTST B8 2 s

W

* Sahanai
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14.

15,

16.

17.

18.

mmﬁmmmmﬁs@mﬁmﬁgﬁsm

Wmmmﬁwim@ﬁmahw?

N foeEe e ) foeremRigR vewm

Yy AHEER A + ; EAIIE

A) 33 B 8433 . 0O 183 D) 9-3-)

- The name Governours of Nepal Rastra Bank have been given below. Which °

alternative is correct while arranging these names in ascending order on the
basis of their appointment dates? ;

1)  Bijaya Nath Bhatarai 2)  Tilak Bahadur Rawal
3).  Bhekh Bahadur Thapa : ~ '
A) 3-2-1 2B). 7 1.0:3 C). =312 #D) =413

A) & yfeE B) O¥®E C) tyiRE D) ¥ wfoem

. What is the Cash Reserve Ratio (CRR) requirement for the Development

Banks of Nepal? -

"~ A) 8 percent B) 7 percen C) 6 percent D) 5 percent

AT T A ¥ HT R 2
A) shifwgdsfa : B) femmemm S fa.

C) AU I fa. ‘ D) A9 3RE o .
Which is the first commercial bank of Nepal? - =

A)  Agriculture Development Bank Ltd.

B) Himalayna bank Ltd. :

C) Nepal Bank Ltd. D) Nepal Arab Bank Ltd.

W@%aﬁrfaﬁamﬂwmamﬁ%(ﬂmaﬁﬁz
A Ffufssmisfa B) wHEN g Ay :
C) U = fa. D) TUEULdE

* Which of the following issues permission (licence) to operate Bank and

Financial Institutions?

A)  Agriculture Development Bank Ltd.

B) Employee Provident Fund 3 <
C) NepalBank Ltd. . D) Nepal Rastra Bank

T I e sifiemres g 2

Ay fum - : B) e :

C) Eufim= D) WX FF e

Which of the following is not a negotiable bill of exchange?

A) Cheque B) Draft-

C) Rent Agreement % - D) Letter of Credit

U T SHS TR . . . .aﬁ‘aﬁ@mmmﬂéqﬁ%m

A) I TWHR : B) I AR AR
0 fa=is=simds : D) UsHfoe g

Nepal Rastra Bank cannot open and take in operation the account for . .
A)  Government of ‘Nepal : :

B)  Government agencies of Nepal Government

C) Foreign Central Bank - . D) . Political Institution

Sy ok

-

T
e ¢



